$9¢ Wr. 2
a)%’: B(0) = #ntangshoprtal = 400 ¢
ges B(18)

B(15)=8C0) 47 = 100 1,028 x164,39¢
An Leas 414 Gtéurl(.l/aj é(}/"’ﬂ/(r) SicH 4Jf/ 39 € au} d?m /{am/o

p = 2inssalz = 7,87,

/

b) Bi6)= 5c0)-2 = BCo)-1028% |: Bco)
2= 1,028 | log D la(2)=¢-Lo5(1,028)

=> b= L09CD) 2 254 Juhre
[05 (1,018)

0re ZCI'/ I'n o/(r sich 0/51; //{a/),‘/a/ V{rc/alo/pe[/' éf!raj{ 25,1 Jahre,
-‘? Wortezeb = 25,1 Juhre — 18 Jahre =
Leo muss noch 2, 1 Jahe wavitea.

7( 7 ]ﬂire

S 48 Mr. 3
a) geg  B(0)= 4000 € . [(10)= s000€ . £=17 Jahe

ges ;. p = A/‘/ 2inssalz

Bcr0)= geo)- 47 | B0 = 4= ﬂa[za) e

e =_;”/6((0) ="7"/6oao = 1”/;:: £,0%7%

8 (o) 4000
Dev Vachsturns tabtor h= 41,0474 = Zinssabz ’1/0"/"4;0/09{;
Der 2Zivnssate muss pmuynde bens § 157 é//rq/m, L= 4‘57904f

b) ge9: p=36% > k=703 ; £ 72 Jshee . Be12)= 20000€
y&f.' 8[0) = An /l('lnjilta/o/‘/a/
8C12)= Beo) 47 | :h™ = Bro)= GEIY . 20090 . 1485 17 €

= R

/an muss /3093/ 17 é an[len.



